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Question 1

A) 64712
v B) 604712

C) 640712

D) 6004712

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 2

A)

v B)

Multiple Choice
No

Mon 6th Sep 2021
N/A

28,929,017

Express 9.08 as a fraction in the simplest form

Primary 5 Maths » Primary 5 Maths (Term 1)

Six hundred and four thousand, seven hundred and twelve written in numerals is

Primary 5 Maths » Primary 5 Maths (Term 1)
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,024
Question 3 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Round 41.95 to 1 decimal place

A) 4138
B) 41.9
v C) 420
D) 429
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,028
Question 4 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt
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What is the size of ZXOY?
b
I |
W ¥
v A) 74
B) 76
C) 86
D) 106
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,031
Question 5 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt
Which of the following is likely tone the length of an adult size bed.
A) 19cm
B) 19m
v C) 190cm
D) 190m
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,037
Question 6 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt
The total height of Kim, Lina and Misa is 390cm. Kim is 118cm tall. Lina is 42 cm shower than Misa .
What is Lina's height?
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A) 94cm
v B) 115cm
C) 136cm
D) 157cm
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,044
Question 7 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

The giaph balaw shows the numbar of visiftors 1o a resod from 2016 to 2048,
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During which one-year period was the increase in number of visitors the
greaies?

A) 2015 to 2016
v B) 2016 to 2017
C) 2017 to 2018
D) 2018102019

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 6th Sep 2021

Last Modified: N/A

QID#: 28,929,050

Question 8 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

From 2015 to 2019, how many years did the resort receive more than 30 000 visitors?
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A) 1
B) 2

v C) 3

D) 4

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 9

In i fiqure badow, which line = paralis to the line EFY

v'A) AB

B) AF
c) cD
D) DE

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 10

Multiple Choice
No

Mon 6th Sep 2021
N/A

28,929,056

Multiple Choice
No

Mon 6th Sep 2021
N/A

28,929,065
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Primary 5 Maths » Primary 5 Maths (Term 1)

Primary 5 Maths » Primary 5 Maths (Term 1)

A number is between 15 and 50. It is a common multiple of 4 and 8. One of its factors is 6. What is the

number ?
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A) 16
B) 32
C) 40
v' D) 48

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

mach rectangie?

A) 8cm
B) 10cm
v C) 16cm

D) 20cm

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

A)

E"""‘

B)

Muiltiple Choice
No

Mon 6th Sep 2021
N/A

28,929,069

Multiple Choice
No

Mon 6th Sep 2021
N/A

28,929,072

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

The figuma balow i= made up of 2 similar rectangies. Tha angih of cach rectangle
In twica s beaadth. The penmetar of the figure (8 80 cm. What is the hn-a1h ol

Primary 5 Maths » Primary 5 Maths (Term 1)

=
Cindy kad some flour. She vsed = kg of the flcur fo bake a cake and .':i kg of tha
fiour 1o bake some cockies. Mow much flour did she vse altogethes?
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,083
Question 13 Primary 5 Maths » Primary 5 Maths (Term 1)

Mdm Sharifah bought 15m of ribbon to give her 6 pupils equally. How much ribbon did each pupil

receive?
A
) 2
a m
B) 3
= m
&
C)
1 - m
2
v’ D) 1
2=m
i
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,093
Question 14 Primary 5 Maths » Primary 5 Maths (Term 1)

The total cost of 8 identical pens and 2 identical files is $32. The total cost of 3 such files is the same
as the total cost of 4 such pens. Find the cost of each file

A) $2.40
B) $3.20
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C) $3.00
v D) $4.00

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 6th Sep 2021

Last Modified: N/A
QID#: 28,929,100

Question 15 Primary 5 Maths » Primary 5 Maths (Term 1)

Ivan sat in a cinema. There were 5 rows of seats behind and 14 rows of seats in front of him. There
were 7 seats to his left and 19 seats to his right. How many seats were there in the cinema altogether?

v A) 540
B) 520
C) 513
D) 494
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,105
Question 16 Primary 5 Maths » Primary 5 Maths (Term 1)

Find the value of 150x 700

Accepted answers:

v 105000

Question Type: Free Text

Date Added: Mon 6th Sep 2021

Last Modified: N/A

QID#: 28,929,107

Question 17 Primary 5 Maths » Primary 5 Maths (Term 1)
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2 2
Accepted answers:
v 27/8
v 27/8
v 2718
v 27/8
v 2718
Question Type: Free Text
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,140

Question 18

Match the options below in increasing order :

Clue
0.56
0.568
)
a
Question Type: Matching
Grade style: Full points if all answers are correct
Shuffle Mode: Shuffle Matches Only
Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,149

Question 19

e —
L —p—

Match

smallest

small

biggest
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In the number kne below, what is the mixed number ndicated by the armow?

Primary 5 Maths » Primary 5 Maths (Term 1)

Primary 5 Maths » Primary 5 Maths (Term 1)
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o fewesd B iy st

Accepted answers:

v 225

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,154

Correctly answered feedback
180 + 45 =225

Incorrectly answered feedback
180 + 45 =225

Question 20

hour clock

Accepted answers:
v 2150

v’ 2150

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,170

Correctly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1810149&trk=edittest_inrow_edit

Jane 8 lacng morh-west now. What &5 the angle that she must turm

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

Joshua was at a concert. His watch was 20 minutes fast. He noticed on his watch that the concert
ended at 10.10 pm. Eight was the actual time the concert ended? Express your answer using the 24

1 pt
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2150- 20 = 2210

2150- 20 = 2210

Question 2

Express your answ

v 4165

41 tenths = 4.1

4.1+0.065 =4.1

41 tenths = 4.1

4.1+0.065=4.1

v 160
v $160

v $160

Question Type:
Date Added:
Last Modified:
QID#:

96+3=32
32x5=160

Incorrectly answered feedback

1

41 tenths and 65 thousandths is the same as

er in decimal

Accepted answers:

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,173

Correctly answered feedback

65 thousandths = 0.065

65

Incorrectly answered feedback

65 thousandths = 0.065

65

Question 22

Accepted answers:

Free Text

Mon 6th Sep 2021
N/A

28,929,181

Correctly answered feedback

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 1)

Primary 5 Maths » Primary 5 Maths (Term 1)

Kumar bought 96 mangoes at a fruit stall at 3 for $5. How much did he pay for the mangoes?
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Incorrectly answered feedback
96+3=32
32x5=160

Qu estion 23 Primary 5 Maths » Primary 5 Maths (Term 1)

4 years ago, Richard was 3 times as old as Adele. Their total age now is 44 years old. How old is Adele
now?

Accepted answers:

v 13

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,187

Correctly answered feedback
44-8=36

36+4=9

9+

4=13

Incorrectly answered feedback
44-8=36

36+4=9

O+

4=13

Qu estion 24 Primary 5 Maths » Primary 5 Maths (Term 1)

The Fejure bolow is made up of simiar squares. How inany more squares
muzl be shaded such that % of e figung is shaded?

o r—

- hy
i | .

Accepted answers:

v 6
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Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,194

Correctly answered feedback
15+3=5
5x2=10
10-4=6

Incorrectly answered feedback
15+3=5
5x2=10
10-4=6

Question 25 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

The figure befow s a reclangke. < a is twice tha size of b Find ~&.

Accepted answers:

v 48

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,201

Correctly answered feedback
90-18=72

72+3=24

24x2=48

Incorrectly answered feedback
90-18=72

72+3=24

24x2=48
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Question 26 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

Latarni baxed some frud tars. She gawe 28 frult tars o her neghbour and
L]

140 trult barts to some friends. She then had 3 of the fruit lats lefl How

many fruit tars did she bake?

Accepted answers:

v 392

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,213

Correctly answered feedback
3 unites = 140 +28 = 168

1unit =56

56x7= 392

Incorrectly answered feedback
3 unites = 140 +28 = 168

1unit =56

56x7= 392

Qu estion 27 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

ﬂmtahlabulmsimmﬂnmnhm'ﬂnnﬂmmmhyahﬂmyhﬁnmm.

i Month | Feb | Mer 'l dor | ey | um |
| | |
| s | o |
Numbe - =
l muul'rh-'m;;];l 320 | 120 ‘ 0 | 240 ‘ 160 |
S S o

The staternant below is ithar true o false fraen the information given
Put a fick {+7) in the cormest eolumn

The difference in the number of muffins sold between April and May is the same as the number of
muffins sold in March

v A) True

B) False
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Question Type: True False

Date Added: Mon 6th Sep 2021

Last Modified: N/A

QID#: 28,929,222

Question 28 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

The number of muffins sold in February is twice the number of muffins sold in May

A) True

v B) False

Question Type: True False

Date Added: Mon 6th Sep 2021

Last Modified: N/A

QID#: 28,929,224

Question 29 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt
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A WESE,

children who had read anly 1 book and 2 boaks,

Lime the data from the graph 1o complete the table

ClassMarker - Manage Test

Thahgnphbahwﬂmhnunﬁmnlhuﬂsmadhy#@ﬁ#ﬂ!tﬂdrunh_

|
Erin accidentally spilled some ink an the graph. However, she remembared (hat |
the number of chidren who had read 3 books was 3 times of the total number of

Mumber of children

Mumber of books read N @ week

|
‘ Mumber of books resd inaweek | 1

| Humbeer of ghildren

Question Type: Essay

Date Added: Mon 6th Sep 2021
Last Modified: N/A

QID#: 28,929,229

Correctly answered feedback

Number of books | 1 F]
read in g weelk

W

Number of 10
children

Incorrectly answered feedback

Number of books | 1 2
read in o weesk

W

Number of 1a | B
children |

Question 30

Primary 5 Maths » Primary 5 Maths (Term 1)
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The fnre bBelow skhows a r&ﬂﬂ'ﬂuhr fesimy, Wirs Tan coveds the rooen wilk
gray and whits Garpat a8 shown Find the penmater of thae white campat,

1 m
e i

28 m
)
L
10 m
+—— 42m
Accepted answers:
v’ 100

Question Type: Free Text

Date Added: Mon 6th Sep 2021

Last Modified: N/A

QID#: 28,929,239
Correctly answered feedback
28x2=56
2x2=4
20x2=40
56+4+40=100
Incorrectly answered feedback
28x2=56
2x2=4
20x2=40
56+4+40=100
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The figures below are made up of similar friangles. The figures follow a

pﬂﬂ!n"l. "
Frgure 1 Figure 2 Figure 3

{a} Study the pattern and complets the table below.

Mumbor of Humbear of Total
Flgum | shaded shaded AuUmber of
Mumber | iiangles Biangiek wiangles
1 1 3 d
Fd 3 [ | 2]
3 8 _ 10 18
| 4

Question Type: Essay

Date Added: Mon 6th Sep 2021
Last Modified: Mon 13th Sep 2021
QID#: 28,929,243

Correctly answered feedback

Figure numiser- T NuE e ol Mum ber of Total numbser of
unshiaded shaded triangle, | triangle
triangle e

1 1 3 i

T — = = 3 [ ]

3 6 10 16

4 11 15 5

Incorrectly answered feedback

Figure numiser- T MU e of Number of Total number of
unshided shaded triangle. | triangle
triangle e
1 1] 3 4
o 3 | B ]
3 6 10 16
4 110 15 25
QU estion 32 Primary 5 Maths » Primary 5 Maths (Term 1) 1 pt

b) What is the total number of triangles in Figure 10?
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Accepted answers:

v 121

Question Type: Free Text

Date Added: Mon 6th Sep 2021
Last Modified: N/A
QID#: 28,929,249

Correctly answered feedback

10+1=11
11x11=121

Incorrectly answered feedback

10+1=11
11x11=121
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